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c̀ S(*SBa _(*a* S(b'B 'À CBC)�('��C _c��C�*Ba�d 

)�:�3��:6������6�����5�����4<�����Nû/ù÷�÷í÷ ̀ !�!û(ù÷-,5�÷í5úû(í�úö/ùöú ̀ !�(��÷í
�íùÏ×ÒñÜØÑÜÒÌÕÖîËÌÍ�èÌiÌÍÌÐËäËÕËÌâîØßåðÌ
ßåÌÑÜØÌñÕÌñÕîØÖÜÕæÑÏäÖÕâÑåÙ�ÌäÏßÞîÕâÌßÏÌ
â	ÕßÙ×ØÓðÌâÌÛÏÖñÜØÌßØÙå×ÓÜÌÕßñÜÑÜÞîÖÕÙåÓÑØÓðÌÜÑ
ØÖØÑÙÓÜÌÏÖ
ÕÑÒÌÕßñÜÑÜÞîÖÕÙåÓÑØ
ÏËÌã�âÙ×ÕÞÌ



ÓÕÐÜØÐÏæâÜØÐÌÖÏ×ÞîÖ×å
ÑÜÔÙÜØÌñØÖåîÏÖåÙ×ÑØÌäÏ×åîåâÑØÌÙ×åÌÑØ
ÕîåâÑØÌÞîÕÓØÌÞÜÔÌäÖÕâÑÜØÌ
�!ú �/üûö-ö÷T�úO�J��6�:�Y�������:5�I���<�=���H5�54�6������I�M�������NY��OM�
+ &'()*'+Ca * ABC' $Ã �C)�S_'A' $!D� (de j*** Ç¡�&' ��Ã�D�e Ä��_6��S(*a�*aBC'dB)'dbS:d_� d 
R���X�5�M��6��:W�2���4��5�6����<�M�Å��NßØÙå×ÓÔÌÏÌÒñÏÖ×ØÑÜÒÌäÏÞîÔäÏâÕÑÜÕÌÏÖ
ÕÑÌ
÷ ̀ !�!û(ù÷-5!í/÷#ÞîâÏâØÓÌâåßÕÓØÌ×
ÏßÑÜØÌ×ÌÕÖîËÌÍ�èÌiÌÍÌÐËäËÕËÌâ�âÙ×ÕÞðÌ
ßåÌäÏÞîÔäÏâÕÑÜØÌ
öíÓÕÐÜØÓÐÏæâÜØÐÌäÖ×åÙ×åÑåÌÞîÕ	ÏÌÞÜÔÌàØ×äÖ×ØßñÜÏîÏâØðÌâÌÞ×Ù×Ø
�æÑÏïÙÜÌâ�âÙ×ÕÞðÌ
ßåÌÞîÖÏÑÕÌ
ÖØ×å
ÑÒÓØÌ×ÌÒàÜØ
ÕÑÜÕÌÞÜÔÌÏÌÖÏ×ÞîÖ×å
ÑÜÔÙÜØÌÏÐÖØïæÏÑØÓÌîÖØïÙÜðÌ
ßåÌäÖ×å×ÑÕÑÜØÌÏÐÖØïæÏÑØ
ÏÌ
ü/ù÷�ÑÜØÑÜÕÌÞîÕ	ÏÌÞÜÔÌ×àÔßÑØÌæÒàÌ
ßåÌÏÖ
ÕÑÌÕßñÜÑÜÞîÖÕÙåÓÑåÌÞîâÜØÖß×ÜÌÏÙ×åâÜÞîåÌàÖÕÐÌ
/� û(÷�í/ù÷��,-.í!ík÷ø(,-ö�,-.í �í̀ úù,(�ù,-ö�ú��íù�ö/÷(ùöú�!÷íû/ù÷�,O�J��6�:�2���
+ Y�64���5������5��;���6����5��;>>��6
M�c����78��>�M��\l��6�@8E�@P
 

���<��3���Å4������=�������4:���+�����Å�M�Å�T� 

Dd£354H�H�����5��;8����6����;>�8�6
�J������3W��=T�;8����6����;>�8�6
P��V�65���W�Å�W��
&BCS)a�= 

$d£R54H�H����>�3�]��5�6�5:��;>�8�6
��V�65���H���V5:���W��Y�5�4�:M��4:��=�<��H
5�
M�Å��
+ 6��5��X6�:=�=��I�G��5��5��Å<���5���V�655�����:6�45��6��W�Å��5� ���6������3W�����3W����
+)�'*'Ba� + _��d Z �a�È*�C O �S�' &BCS)a�= 

�d£K�����<�����5���;�3�]��5�6�5:��;>�8�6
�R6���4�LF\���:���W����6������V�655�6���6����5�
��G4����5����5�����:6�4���8��#%$D ��* S('* %�Ã#8�;���������X4��6�����W�I��:6��=7 

"d£R54H�H�����5��E��54��3����;>�8�6
��V�65���W�Å�W��Y�5�4�:�ÆÆ���3�������6��3��6���5��
436������:��6�H�3����5W�����5������5����436��5����V�5G�5��Y�5�4:=�5��4:���W����3:��
��Y�5�4:=�ÆÆM�Å����36��3��:=��5�=��I�G��5��5��������5�4:=���6��X5�5���3W�������
AS�SB'BCa (���6����5���G4����5����5��4:���������3:�
�E�K�����5����6������G��5M���V��
&BCS)a� S 6���6����G�5����45���=������5��K�����5�5�=H�6���5��3�4�G3����5�7 

�d£K�����<�����5���E�I6=��5��;>�8�6
��6�9Kb
Y\b
>;@
@Q
;>�8
Q@�R6���4�LF\���H��5W�
6��W�Å��5�����6������3W���������6��������3W�����4:���������3:�
�E�K�����57 

�d£R54H�H�����5��;��I6=��5��;>�8�6
���6�����W�Å�W��Y�5�4�:�ÆÆÆM���:��6�H�3����5W��
4�����54:������:6�45����V�5G�5��Y�5�4:=���6��5����H����6��W�Å��5����3W����
�����6��������3W�����4:���������3:��E�K�����5����6���7 

Ãd£�a����<�����5��;?�4�����5��;>�E�6
��6�9Kb
Y\b
>;@
@Q
;>�8
�?�R6���4�LF\�=�6��H�W�
+ H����K�����G�9Kb
 

Y���5�����3���Å4�����=4����[�5��4:�����������5�����[��V�655���436��5����V�5G�5��Y�5�4:=�
S ��:����5��6���6����5���G4����5����5�����:6�4���8��#%$D ��* S('* %�Ã#%�$ ��* B' �S�a�BÈ 
�:6�4�R6���4�LF\���X��5<�����X�W����5��+�45G����36���H5�����������5�����[�
&BCS)�SA'+�È C ����5+�5���4:=��:�36����
 

���<�����=�����M�Å���V�65����R5�H5�����>�3�]��5�6�5:��;>�8�6
M���4�G3�5�����Y�5�4:=�ÆÆ�
C Y�5�4:=�ÆÆÆ��4:���W����6�]�5�M�Å����6��5��43�W�5��5��45G���6=�:=���H����6��W�Å��5��
��3W���������6��������3W�����4:���������3:�
�E�K�����5����6���M���V��Y�5�4�:�5�:��6�����
��6=��:�43�W�5W�45G�3�36���������5��K�����5�9Kb�5���4�G3�5��=�6��H=�<����������H����K�����5�
9Kb�ÆÆM��4:���+�����Å�M�Å��Å<���5���V�655�����:6�45����V�5G�5��Y�5�4:=�45G��5��5W�
 

R6���4�LF\���6����=��IGM�Å���I���5�����6�����5����H�2��M�����V��5����5�4:=�36����
��5�4:�����G�����:=�3�4�G3����5����H5�54�6������I��4:=�:=���X��36���H5�������5<���I��
3�4�G3����5��5�36�����5������I� =H�6���5�����6�X5���6�
��>?�9���F
3
�
�)�:�3��:6���5W�
X��5�H�2�������6�:=�����5��Q��=��I��;>���6
T�N'
ÏßÑÜØÌ×ÌÕÖîËÌ�ÍÌiÌÍÌÐäÕÌäÏÞîÔäÏâÕÑÜØÌ
ÕßñÜÑÜÞîÖÕÙåÓÑØÌâÞ×Ù×åÑÕÌÞÜÔÌÑÕÌ�áßÕÑÜØÌÞîÖÏÑåÌæÒàÌ×ÌÒÖ×ÔßÒËÌFØ�ØæÜÌäÖ×ØäÜÞåÌ
÷ ̀ !�!û(ù÷-,5�ú��í/ù÷�÷í̀ ÷(úù!÷T�ú��íû(ÕÑÏâÜáðÌ�ØÌâÌßÕÑØÓÌÞäÖÕâÜØÌäÏÞîÔäÏâÕÑÜØÌ



ÕßñÜÑÜÞîÖÕÙåÓÑØÌñÏ�ØÌ×ÏÞîÕ�ÌâÞ×Ù×ÔîØÌâå	áÙ×ÑÜØÌÑÕÌ�áßÕÑÜØÌÞîÖÏÑåÌé×ÕÞÕßÕÌÞÐÕÖ
ÏâÏïÙÜìðÌîÏÌ
â�âÙ×ÕÞÌîÕÐÜÌâÑÜÏÞØÐÌÞîÖÏÑåÌ×ÕÐÖØïæÕÌÖÕñåÌäÏßñÜÏîÏâØÌÜÌäÖ×ØßñÜÏîÏâØÌîØ
ÏÌäÏÞîÔäÏâÕÑÜÕËÌ
ãÑÜÏÞÐÏßÕâÙÕÌßÏñÕ
ÕÌÞÜÔÌàÏâÜØñÌÏßÌÏÖ
ÕÑÒÌâÌÏÐÖØïæÏÑØÓÌÞåîÒÕÙÓÜÌÛÕÐîåÙ×ÑØÓÌÐÏÑÐÖØîå×ÕÙÓÜÌ
âÌÛÏÖñÜØÌßØÙå×ÓÜÌÕßñÜÑÜÞîÖÕÙåÓÑØÓÌÓØ
ÏÌÒäÖÕâÑÜØ#ÌæÒàÌÏàÏâÜá×Ð�âÌâåÑÜÐÕÓáÙåÙ�Ì×ÌäÖ×ØäÜÞ�âÌ
äÖÕâÕÌñÕîØÖÜÕæÑØ
ÏËÌãÌäÖ×åäÕßÐÒðÌ
ßåÌäÏÞîÔäÏâÕÑÜØÌÕßñÜÑÜÞîÖÕÙåÓÑØÌñÏ�ØÌàå�ÌâÞ×Ù×ÔîØÌ
îåæÐÏÌÑÕÌâÑÜÏÞØÐÌÞîÖÏÑåðÌÙÏÛÑÜÔÙÜØíâÑÜÏÞÐÒÌäÖ×Ø×ÌÓØßåÑØ
ÏÌâÑÜÏÞÐÏßÕâÙÔÌæÒàÌâÞ×åÞîÐÜÙ�Ì
âÑÜÏÞÐÏßÕâÙ�âÌÏ×ÑÕÙ×ÕðÌ�ØÌäÖ×ØÞîÕÓØÌÜÞîÑÜØ�ÌäÖ×ØßñÜÏîÌäÏÞîÔäÏâÕÑÜÕÌÕßñÜÑÜÞîÖÕÙåÓÑØ
ÏðÌ
äÏÑÜØâÕ�ÌàÖÕÐÌÓØÞîÌ�áßÕÑÜÕÌÒäÖÕâÑÜÏÑØ
ÏÌäÏßñÜÏîÒÌÐÏÑÐÖØîå×ÕÙÓÜÌÓØ
ÏÌäÖÕâÌæÒàÌ
ÏàÏâÜá×Ð�âÌâÌÏÐÖØïæÏÑåÙ�ÌÏÐÏæÜÙ×ÑÏïÙÜÕÙ�Ìk÷ø(,-ö�,-."íYí(÷ø!ú5íû,(ü÷-5!í�ù�÷�í÷ ̀ !�!û(ù÷-5!í
äÒàæÜÙ×ÑØÓÌîÖÕÙÜÌÐÏñäØîØÑÙÓØÌßÏÌßÕæÞ×Ø
ÏÌäÖÏâÕß×ØÑÜÕÌäÏÞîÔäÏâÕÑÜÕÌÜÌâåßÕÑÜÕÌßØÙå×ÓÜÌ
ÖÏ×ÞîÖ×å
ÕÓáÙØÓÌÞäÖÕâÔÌÙÏÌßÏÌÜÞîÏîåÌâàÖØâÌâÏæÜÌâÑÜÏÞÐÏßÕâÙåðÌäÏâÜÑÜØÑÌâÜÔÙÌÒñÏÖ×å�Ì
äÏÞîÔäÏâÕÑÜØÌÑÕÌäÏßÞîÕâÜØÌÕÖîËÌÍ�èÌiÌÍíÐäÕë �+È(S� NÇ¡ )ÈbBd '�� ** �Ç8 $"��D!e * ABC' 
" �c�abS $!DD (de Ä��_6��S(*a�*aBC'dB)'dbS:d_� d 

���3���Å4�<�5���636�����<M�2����3��5���5�W�45G���:Å������6�:=�����5��Q�45�63�5��;>���6
T�
êAÜØÌñÜØïÙÜÌÞÜÔÌÑÕîÏñÜÕÞîÌâÌßåÞäÏ×åÙÓÜÌäÖ×ØäÜÞÒÌÕÖîËÌÍ�èÌiÌòÌÐËäËÕËÌÞåîÒÕÙÓÕðÌâÌÐî�ÖØÓÌ
âÑÜÏÞÐÏßÕâÙÕÌÞÐ	ÕßÕÌâåÖÕ�ÑØÌÏïâÜÕßÙ×ØÑÜØÌÏÌâåÙÏÛÕÑÜÒÌâÑÜÏÞÐÒËÌAÕÌÞÐÒîØÐÌâåÙÏÛÕÑÜÕÌ
âÑÜÏÞÐÒÌäÖ×ØÞîÕÓØÌÜÞîÑÜØ�ÌØæØñØÑîÌâÕÖÒÑÐÒÓáÙåÌÑÕâÜá×ÕÑÜØÌÞîÏÞÒÑÐÒÌñÕîØÖÜÕæÑØ
ÏðÌÕÌÏÖ
ÕÑÌ
äÖÏâÕß×áÙåÌäÏÞîÔäÏâÕÑÜØÌäÏ×àÕâÜÏÑåÌâÑÜÏÞÐÒÌÞîÖÏÑåÌÑÜØÌñÏ�ØÌÏÖ×ØÐÕ�ÌâíÞäÏÞ�àÌ
ñØÖåîÏÖåÙ×ÑåÌÏÌ�áßÕÑÜÒÌÑÜØÜÞîÑÜØÓáÙåñËÌãÌäÖ×ØÙÜâÑåñÌÖÕ×ÜØÌ×ÕÜÞîÑÜÕ	àåÌäÖ×åäÕßØÐðÌ
ß×ÜØÌ
ßÕæÞ×ØÌäÖÏâÕß×ØÑÜØÌäÏÞîÔäÏâÕÑÜÕÌàå	ÏàåÌß×ÜÕ	ÕÑÜØñÌ×ÌÒÖ×ÔßÒðÌÐî�ÖØÌâÌäÏÞîÔäÏâÕÑÜÕÙ�Ì
ÏÐÖØïæÕÑåÙ�ÌÓÕÐÏÌâÑÜÏÞÐÏâØðÌÓØÞîÌâåÖÕ�ÑÜØÌ×ÕÐÕ×ÕÑØÌâÌÕÖîËÌ�ÍÌiÌòÌÐËäËÕËÌãåÙÏÛÕ�!úí
äÜØÖâÏîÑÜØÌ×	Ï�ÏÑØ
ÏÌâÑÜÏÞÐÒÌñÏ�ÑÕÌäÏÖ�âÑÕ�ÌâÜÔÙÌßÏÌÑÜØâåÖÕ�ØÑÜÕÌ×
ÏßåÌÑÕÌ
ÐÏÑîåÑÒÏâÕÑÜØÌäÏÞîÔäÏâÕÑÜÕÌâÞ×Ù×ÔîØ
ÏÌ×ÌÒÖ×ÔßÒÌäÖ×Ø×ÌÏÖ
ÕÑÌâÌÞåîÒÕÙÓÜðÌ
ßåÌäÖ×ØäÜÞÌ
âåñÕ
ÕÌ×	Ï�ØÑÜÕÌâÑÜÏÞÐÒÌäÖ×Ø×ÌÒäÖÕâÑÜÏÑåÌäÏßñÜÏîËÌFØ�ØæÜÌÞîÖÏÑÕÌÑÜØÌâåÖÕ�ÕÌ×
ÏßåÌÑÕÌ
ø��(,�ü��÷�ÜØÌâÞ×Ù×ÔîØ
ÏÌäÏÞîÔäÏâÕÑÜÕðÌîÏÌÒÞîÕâÏßÕâÙÕÌâÌîÖØïÙÜÌÕÖîËÌ�ÍÌiÌòÌÐËäËÕËÌÑÜØÌ
×ÏàÏâÜá×ÒÓØÌÏÖ
ÕÑÒÌßÏÌäåîÕÑÜÕÌÏÌÏäÜÑÜÔÌäÏ×ÏÞîÕ	åÙ�ÌÞîÖÏÑÌâÞ×Ù×ÔîØ
ÏÌäÖÏÙØÞÒðÌîåæÐÏÌ
ÑÕÐÕ×ÒÓØÌÒñÏÖ×å�ÌäÏÞîÔäÏâÕÑÜØÌÑÕÌäÏßÞîÕâÜØÌÕÖîËÌ�ÍÌiÌòÌÜÌÕÖîËÌÍ�èÌiÌÍÌÐËäËÕËÌ'ÕîØñÌÙÏÛÑÜÔÙÜØÌ
��!�ûÐÒÌäÏâÏßÒÓØÌäÏâÞîÕÑÜØÌÏàÜØÐîåâÑØÓÌÏÐÏæÜÙ×ÑÏïÙÜÌàØ×äÖ×ØßñÜÏîÏâÏïÙÜÌäÏÞîÔäÏâÕÑÜÕËë 
�+È(S� NÇ¡ * ABC' " )Ca(_BC' $!DD (de )ÈbBd '��d * �Ç8 D�ZÃ�D!e Ä��_6��S(*a�*aBC'dB)'dbS:d_� d 
������54:�������4��W����4�G3�5��3���5�6����������6�:=�2�������5���Q��6����5��;>�D (d6 
êFØ�ØæÜÌàÏâÜØñÌÓØßåÑåÌâÑÜÏÞÐÏßÕâÙÕÌÙÏÛÕÌâÑÜÏÞØÐÌÜÌâÑÏÞÜÌÏÌÒñÏÖ×ØÑÜØÌäÏÞîÔäÏâÕÑÜÕðÌÐî�ÖØÌ
ñÏ�ØÌàå�ÌâÞ×Ù×ÔîØÌÜÌäÖÏâÕß×ÏÑØÌîåæÐÏÌÑÕÌâÑÜÏÞØÐðÌîÏÌâ�âÙ×ÕÞÌñÕÌ×ÕÞîÏÞÏâÕÑÜØÌÕÖîËÌÍ�èÌiÌÍÌ
ø"/"÷"0í(5"íö÷-.� ö!í��!úø(,��÷í/ùöúûöø� ÷í�í�ù÷øí��!�ûøüí�í �í ÷Tûöú��í/ù��÷ öú�!÷í
äÏÞîÔäÏâÕÑÜÕÌÕßñÜÑÜÞîÖÕÙåÓÑØ
ÏÌÜÌñÒÞÜÌàå�ÌÏÑÏÌÒñÏÖ×ÏÑØÌéôÕÖÜÒÞ×Ì�ÏîÒæÞÐÜðÌ�ÜæÐÕÌÒâÕ
Ì
�íÞäÏÞÏàÕÙ�Ì×ÕÐÏ#Ù×ØÑÜÕÌäÏÞîÔäÏâÕÑÜÕÌÕßñÜÑÜÞîÖÕÙåÓÑØ
ÏËÌ�ÕÞÒÞÌ×Ìò���ÌÖËðÌÑÖÌÍðÌ
û(ù"í
�ìËmnoìËÌãåÙÏÛÕÑÜØÌâÜÔÙÌäÖ×Ø×ÌÞîÖÏÑÔÌâÑÜÏÞÐÒÌÏÌâåßÕÑÜØÌßØÙå×ÓÜÌÜÌâÞ×Ù×ÔÙÜØÌ
äÏÞîÔäÏâÕÑÜÕðÌÕÌîåñÌÞÕñåñÌÙÏÛÑÜÔÙÜØÌ×
ÏßåÌÑÕÌÓØ
ÏÌäÖÏâÕß×ØÑÜØÌÞÐÒîÐÒÓØÌÓØ
ÏÌ
àØ×äÖ×ØßñÜÏîÏâÏïÙÜáðÌîÏÌ×ÕïÌâåñÕ
ÕÌÒñÏÖ×ØÑÜÕÌäÏÞîÔäÏâÕÑÜÕÌÑÕÌäÏßÞîÕâÜØÌÕÖîËÌÍ�èÌiÌÍÌ
ø"/"÷"O�J��6�:�2�������5���Q��6����5��;>���6
M�4�I�
��:��ÆÆ���F��77E��>M�
Ä��_6��S(*a�*aBC'dB)'db�h
3�P
�R���X���4�����54:����36���H5�������:��4�55����H=�����Å��<��
2����Å4��T�N�ÏÛÑÜÔÙÜØÌ×ÕïÌâÑÜÏÞÐÒÌÙ×åÑÜÌàØ×äÖ×ØßñÜÏîÏâåñÌäÏÞîÔäÏâÕÑÜØÌÕßñÜÑÜÞîÖÕÙåÓÑØðÌ
âÏàØÙÌÙ×Ø
ÏÌÞîÏÞÏâÑÜØÌßÏÌÕÖîËÌÍ�èÌäÕÖËÌÍÌ�çÝÌ×ÕÙ�Ïß×áÌäÏßÞîÕâåÌßÏÌÏàæÜ
ÕîÏÖåÓÑØ
ÏÌ
ÒñÏÖ×ØÑÜÕÌäÏÞîÔäÏâÕÑÜÕëÌ�+È(S� * ABC' D� �c�abS DZZ" (de )ÈbBd *** ¡�N Ã%�Z�e paÉ 
B( D�ÃDZD$ d 

����4�<��3���Å4���������6�����5�����4<������H5�54�6������I������354��������Å���
�:��5������5��5�5��4����436����R6���4�LF\��4:��=��M�Å���I���5����X6�H5��5�H��6�
�����=4�
�8�
�Ge �(a*a) LF\���:��=���6���6����5���G4����5����5����:��������:6�4������5�4�:�3��H5��=�



��43��=�<��I�������5��<�6���6����<
�U6��+��6�
�����=4�
�8�RU���H�I������H��W�Å��5��
��5�4:=�����:����5��6���6����5���G4����5����5����:��������:6�4
 

�̂V�5G�5��Y�5�4:=�������35��3�4�G3����5������W�����I������:����5��6���6����5�
��G4����5����5�����:6�4���8��#%$D ��* S('* %�Ã#8�;�����36�����V�65G�43�������W�M�Å��
X6�:���4��Å<���5��=36���5���I��3��H5��=���:��:6�������G���I��36����=X��X��5<�:���
+ �:6����������:��5������5����V�:��������M�����������M�Å������:=��5�5��4��I��3�4�G3����5��
36��4��W�54��5�+�36���H5���3�4�G3����5����H5�54�6������I�
�Y���:5���4��=���5M�H��<�����
=�����M�5Å�����<���45G�3�4�G3����5����4��W���4���G������3��4���5���6�
�����=4�
�8�RU�5���4��
+)*�*ÈB'Ba �aAÈBCa B' +BCS)a�e �(a*a) ;8< BCa ̀' �S̀ _a�aB��C AS A'�)*abS _(S+'A*aBC' 
3�4�G3����5��5������5��������5�6��4�6��I��<����436��G�������54����
�Y�����5��R6���4��LF\�
+ BCBCa�)*a� )_('+Ca �('� �a)� O ����5<�:=�����V�5G�5�H�36����Y�5�4:�����G�������35��
3�4�G3����5������W�����I����5�4:=�����:����5��6���6����5���G4����5����5�����:6�4���
%D�#%$D ��* S('* %�Ã#%�$ ��* B' �S�a�BÈ S�(a) O �����I�������H������4��4=�:=�
'̀�a(C'�BS#36����I�M�����H�36��3��:=�X6�:�36���H5��=M�������:��6�I��R6���4�LF\�H�IWX��
����+�6��4�6��I�5G�5����W���5��<���436��G�������54����M����43�������W�M�Å��3�4�G3����5��
��:�[�����������5�H�K�����5�4��W��45G�X��36���H5�����
 

���<�����=������3���Å4�������Å������H��4:���+M�Å�����5�5��4����436��5��������
* :��5�����������H������436������H5�54�6�������M���:5H���4��36���H5��M������ :��6�I��
R6���4�LF\�H�IWX������+�6��4�6��I�5G�5����W���5��<���436��G�������54����M�36��4��W�54��5�+�
+ ��:=�3�4�G3����5����
������5�<������5��K�����5�9Kb�ÆÆ�=�6��H=�<������H����K�����G�9KbM�
��H��5��<�<�6��W�Å��5�����6�����3W�����4:���������3:�
�E�K�����5
�2���Å��3���������6��5+�
=��IGM�Å� *bSABCa * ��������H���Å�����6�:5�H�2�������5��Q�45�63�5��;>���6
�J4�I�
��:�
�Æ�
��F��7E@��>P�N��V�5G�5����5�4:=�3����=���3��4���5���X5�:��������:��5������5�
X��36���H5�������5�3�4�G3����5�O
����5�6��5+�����H�����Å�M�Å���4:��������Å���
�:��5�����+���H����6��W�Å��5���3W�����4:���������3:�
�E�K�����5����6���������5:=������5��
K�����5�9Kb�5�K�����5�9Kb�ÆÆM�3��5<I�GW�����4�X<�����:5�����36�����V�65G�����:5H�36��3��:=�
4:=��:���
���V�5G�5��Y�5�4:=M�� 36�������X��36���H5������+�3�4�G3���BC' S �Ä'('��a(*a 
S�Ca��È+BÈ̀d 

���4=H=�<��3���Å4���6����Å��5��R6���4�LF\��4:��=��M�Å����X������5�����[��V�655M�
Å� ��H����6��W�Å��5���3W�����4:���������3:�
�E�K�����5����6����4:=�:=�����V�5G�5�H�
Y�5�4:=M�����Å�W��=���+M�Å����54��5�W���X5�:������X��36���H5������+�3�4�G3����5��
��:�[�����I�������5�H�K�����5
�Y���5<�:=�����H5�4�����:��5������5<M�5Å ��V�5G�5��Y�5�4:=�
��4�<35W������:=�3�4�G3����5����5�5�������I��Y�5�4:5�H�ÆÆM�:��5������X�W�M�4��4���5�����
�6�
��78�9���3:��;�F
3
�
�����5<�:=����6�
��>?�9���F
3
�
M�=������5��K�����5�����W���5�
C =H�6���5��3�4�G3����5�M���:�[�����I�������5�H�K�����5�����W���5�J3�6
 _('+S̀ S�BÈ 
��6�:�Y�����Y�64���5������5��E�I6=��5��;>>8�6
M�cÆ����Y���E7@�>8M��\l��6�?7>Q@8T�N)�Å��5�
4�6������V����5�4�:��������5��������5�������35��3�4�G3����5������W�����I���6������45�
S =H�6���5��3�4�G3����5���6I�������W�������5��H�Å��������4�����5�+�H�6���6����5��
������5��6I��=�Æ�5�4�����5M�����H���X��5<��:�����+�������G����3��4���5���6�
��78�9���3:��;�
:
3
�
����
�=����5+�������G��6I��=�Æ�5�4�����5�5�=H�6��+ 3�4�G3����5����X�����I��
X��36���H5�������5�J�6�
��>?�:
3
�
POP
� 

25�����Å�5�����3���Å4��I�M�H��<�����=��������4��G�36�������5��3�4�G3����5��
��H5�54�6������I����43�4�X�X=��<�����=V��5����I��=���4��5:�������W�����3=X�5������J�6�
�8�
8d_d'd  S('* CB�S(̀S+'BC' 4�6���5�5������=���4��5:���3�4�G3����5�M���6�Å��<����6�
�E�F
3
�
�
�6���H��<�����=������:��5������+�:�H3��:4���I��5������63=�<��I��������5��5��
Y�5�4:��������4��4�:5����:��5������5�V�:���������5�36���������5<����������5�5��4�<�
436��<M�R6���4�LF\����5�4W�45G �����6�=�����V�655�36���4���5�����������5�4:=���3�������
6��3��6���5��436����JY�5�4�:�ÆÆM�=�=3�W�5����Y�5�4:5�H�ÆÆÆPM�3�H5H�M�Å�����X�5��=�



43�W�5��5��45G�36��4W���:���V�5G�5��Y�5�4:=M�3���4���<�����X����3W��=����3���G���
+ �5�5��4����������5�6��4�6��I�5G�5�M�3���I��<������=������5=�K�����5�����W���5�5�=H�6���5=�
3�4�G3����5��� ��W���5
 

q�m©kqnf��mrwmxkpsrim�qw|smvwginx}mzopknfxw�mrwmgqwnwom§«³mt}wmfzntjy�t}{mzt}sopuzm
��s|z}k�gnw�mnkzkq�ighmzmg}|l}wmnmqvm~kw�n}wqt}pkmxvqymq��mkmzmpstowpzwtgx}mzi�k{m
vwginxymzmpon�k{g}wmt}wnts�tilmnmzt}sop}wlm{|wq}}��

Y��6���5�R54H�����>�3�]��5�6�5:��;>�8�6
 �V�65����5�4W����6��W�Å��5�����6���������6�������
�3W�������6���6����G���G4����5����5����:��������:6�4
�2�4�G3�5���V�65���4:���W�M�
Å� + 36��3��:=��5�=��I�G��5��5������Å<���5�M����45�� _(*a_(S+'A*aBCa (S*_('+È 
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���5�6��5+�����H�����Å�M�Å����H�5�H������6=4���5���6�
���=4�
���3:�
�;�5�Q��6����6�
��8E�=4�
�;�
3:�
���5�;�RU�3�36���������5��K�����5M��5��H5�W��H5��4��M�����6�=����5�������=�<�3�:6��5��
+ �5�5��4��H�3�4�G3����5=
�R6���4�LF\�36�����5W 36���H5������3�4�G3����5�����3�6�5=�
S �X��5<�=�<���36��354��RU��6���F
3
�
��V�65����5�W�����6��:=�����:�H=�5:������H�����5��=�
���M�5���3������5<�3�45���W���5���GM�������5����6=�:�����:����5��6���6����5����:�������
�:6�4
�R��4�����36���������X�5����5���3W��È �aABS('*S+a� *' AS�SB'BCa (a*a(+'��Ce BCa 
�H5��5W��45G�������5�5���:�[����5���=:��5���G4����5����5�����:6�4=�8>>�����5���4�����������
���5����5�M���354������RUM�X�W���3�W������������;>�?�6
 

Y����5�45��5=������6�=�=���6=4���5���6�
�E@�9���3:�
�Q��=X��6�
�E% 8d_d'd �*'+Ca)*aBCa 
3�4�G3����5����=6�G�=��=X������5�4�:�4�6���P�3�����5���4:���+�����Å�M�Å���5����4�<35W��
+ ��:=��5�5��4��I��3�4�G3����5���X�5I���6�����36��4W��:5���:��=�<���R6���4��5�LF\�
���5�45+�36���H5������3�4�G3����5�M��������5�4���5��3�4�G3����5�����3�6�5=����6�
�E8�9���
F
3
�
��I���5W�X����5���6�4�43�W�����M�:��6��R6���4�LF\���4����X��5<�����X6�+�3���=��IG�
6����Å��<�� 54��5��5�� 3��4���� ��� ���5�4���5�� 36��������I�� 3�4�G3����5��
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